M . 4607 B 268 (£MEH) 138455
KHMiE #HHEHER $T6E07H26H (£MER)
KEZEHRTT., MYDHEOHME L —REERT 2720, Gt LRTEARNOHEARIEI—HLEWVIGENH 5,
Y AR iEPS] E=H Bk = BIHE
o 955 95,021 2,004 97,980 60 %
S 1,978 52,490 54,468 79 %
= 2,933 147,511 2,004 152,448 66 %
Bfy kg, M
" - e | wm s ENFEflE
48 R g |RFEAHE HEAR TEm Y= YT s e
FHE|ZWIA 18,310 | Y AAL 270 |dtiBE 10
ES 10 648 540
B 10
iEpS 18,040 [dvimE 10 972 324
ES 10 972 864 756
B 10
ICALA 8,440 | #Axd 8,440 |E#* 10 | 1,836
JtiEE 10 | 2,376 | 2,160 | 2,052
&b 10 | 1,728 | 1,296 | 1,188
F Ry 4,500 | 8% 4,500 |B£E 10 950 864 648
=F 10
B 10
L& X 350 | €W AL 50 |RE 10 864 756
5 10
By 10
GEpS 300 | REF 10 | 1,080
5 10
£ 10
ZEDOH 795 | Y AR 25 |2 0.2 49 43
IR 0.5
By 0.5
iEpS] 770 |2k, 0.2 59 54 43
ER 0.5
B Hb 0.5
F5NAZS 920 | Y AAL 25 |35 0.2
HAR 0.17
B 0.2 162
iEpS] 895 |BE% 0.2 162
HAR 0.17 194 184
£ 0.2 216 162
h&E 1,256 | &Y AAL 30 |2k 5 540
FE 5
By 5
EpS 1,226 |2k 5 1,620 756 540
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SH6407A268 (£ER) 13K459

HIFTHE - @&
KHMiE #HHEHER $T6E07H26H (£MER)
B{I kg, M
o MG
x| w4 HFEHE |RTHE HEARR TEn Y o] 56 s e
FE 5 2,052 1,728
B 5 2,160 [ 2,052 | 1,836
Ay ay— 30 [ #Exd 30 [dbEE 6
£% 6 3,240
By 5
ol 11,398 | €U AAL 125 |28 5
=F 5
By 5 2,376 540
iEpS 11,273 [B & 5 2,592 | 2,376 | 2,160
=F 5 2,700 [ 2,376 | 2,268
BH 5 2,700 [ 2,160 | 1,620
MmEL » 5,610 | 8% 5,610 [XF> 3 10
ZiH, 10 | 4,104 | 2,700 | 2,376
By 10 | 4,104 3,240
AN 2,411 | #Exd 2,411 |HE 0.4 238 216 130
ZHH, 4 1,512 864 648
B 5 2,700 [ 2,484 2,160
k< b 4,875 | X 4,875 |dtiBE 4 1,944 1,728
55 4 1,728 | 1,512 | 1,296
By 4 1,728 | 1,620 | 1,188
g g 528 | #Ext 528 |ZIE 3 1,620 756
s 3 1,944 1,620
& 0.2 173 151
E—<y 2,901 | Y AAL 86 |ZIk 0.15
=F 0.15
By 0.15 119
iEpS] 2,815 |3 0.15 108 76 43
=F 0.15 119 97
& 0.15 140 124
ES3HAZL 5,350 | Y AAL 190 |k 5
FE 5
By 5
X 3,160 |Z%3 5 756 540
FEE 5
BH 5
[k 2,000 |Z&iH, 5
FE 5
By 5
*o7 568 |1 AHL 36 |ER 0.08
Al 0.07
& 0.08
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SH6407A268 (£ER) 13K459

HFEHE - @&
KHME #HHER SM6E07H268 (£EH)
B i kg, A
k] SREA HEHE |REAE HEAR — Eﬂ#ﬁ% —
FEH aniE B | =fE & Z{E
by 532 |EEIR 0.08 108 97 86
= Al 0.07
£ Hb 0.08 86 76
LAIZHAS Y 402 (&Y AAL 6 |= 15 3
g 3 756
BHh 5
=R 396 |'= & 3
HE 3 1,080 972 864
B 5
WAITA 666 | At 666 |25 2 2,700 | 2,160 [ 1,080
TRk 2
By 2 2,484 | 1,620 | 1,080
ZAEED 157 |2 Y AL 25 |E5 0.25
®wE 0.3
£ b 0.25 194 108
GERS 132 |35 0.25
%X 0.3
=Sl 0.25
DEFARE S 5,780 | #Ex 5,780 |2k 10 | 3,456 | 3,348 | 2,376
GEdi! 10
B 10 | 3,564 3,240
T-FhE 4,000 [ #AB%F 4,000 =& 20 | 4,104
T=E 20
B 20
Z DB 18,733 | Y AAL 87
GiERS) 18,642
Bk 4
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SH6407A268 (£ER) 13K459

HIFTHE - @&
KHMiE #HHEHER $T6E07H26H (£MER)
B{I kg, M
NI S I ENFEAEAE
x| w4 HFEHE |RTHE HEARR TEn Y o] 56 s e
REIVAZ 7,628 | #Exd 7,628 &% S U 10 | 7,560 | 5,400 | 5,184
mL 180 | #Ex 180 2% EK 5
FE K 5
B EK 5
o3 6,619 |1 AL 1,342 |1LEY 5 4320 | 3,024 | 2,160
B’E 5
By 4 2,419 [ 2,160
GERS 5,277 [1LZY 5 5,940 | 1,080 540
BS 5 4,104 | 2,160 [ 1,944
By 4
ERRES) 2,181 | &Y AL 608 |15y 0.5 464 238 216
iz 0.5
B 0.5
izbS] 1,573 |1Lh# 0.5 486
1157 0.5 378 270 216
b 0.5 356 324 216
RES 3,437 | #E 3,437 |l 57| 2 | 1,620 1,404 | 1,080
KB T77x7 |03
£ Tz | 2
M v Av=2xAh| 5 | 12,960 10,800
[ v Ar<AA|l b
K v AVv<RAA| B
Mg E g 0.4 702 540 432
&k E g 0.35
£ Bl 0.35 670 486 378
N 7L ¥ 0.75
T—ILZRAOYV 5,089 | #@xd 5,089 |E%FH 1
Rk 8
& 9 4,536 | 3,240 [ 2,592
B OV 830 | #MEx 830 | T 5
I, 5
By 5 2,916 [ 1,728 | 1,620
TYTAXAOQY 375 | A% 375 | 5 3,024 | 2,700 | 1,944
Rk 5
BH 5
ERAY.) 24,472 | #Axt 24,472 1L 13 | 3,780 3,240 | 2,700
R 15 | 2,160 1,944
R 13 | 3,780 | 1,836 | 1,620
ZREET LN 2,232 | 8% 2,232 |23 8
R 10
‘i 9
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= SH6FE07B26H (£EH) 13145%
HEME - i b - 7
AKHTE #HHFE SM6FE07H268 (£ER)
B kg, M@
0 ik
E 24 mEng FEerH mErR —— el
7 o = TEM SfE | =m] BE | fE | 2@
Z Dt ERE 1,425 |2 Y AL 28
A 1397
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